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(a) Use your calculator to work out the value of

() 1.8+4.73 @ V1701

ANSWET: ..o [2] ANSWET: ... [2]

(b) Write your answers to part (a) correct to 2 decimal places.

ANSWET: ... [1] ANSWeEr: .....coooviiiiiiinn.

(@) Write the ratio 24 : 18 in its simplest form.

ANSWEr: i,

(b) The ratio of boys to girls at a schoolis 7 : 3

If there are 120 children altogether, how many girls are there?

.......... [1]

.......... [2]

[3]



3. Write the next three numbers in each sequence.

M 7 , M1 , 15 , 19 , ... o o [2]

i 16 , 8 , 4 , ... b e y e [2]

4. Complete these

(i) 365.7 + ... = 893.2 (i) 159 X .ooooiiiiiin, = 116.07

(i) +52 =09 (iv) 2468 — ... = 80
[4]

5.  Write true or false under each expression below.

5x3 =15+ 2 =17 18 x 4 =9 x 8
52 =5 x 2 7 +28 =28 + 7
[2]
6. Write the name of each shape.
(i) >> (ii)
ANSWEr: ... ANSWESN: ..o
[2]



(@) Jenson buys a car for £127 500
He sells it to Lewis for 12% more.

How much does Lewis pay?

[3]

(b) In one year, Greta grows from 140cm to 161cm.

Calculate her percentage increase in height.

[2]



(a) Simplify

(i) s+s

(iii) 8a +3 —-2a +5

(b) Multiply out the brackets and simplify

(i) 5e + 2(3e — 4)

(c) Factorise fully

(i) 18x — 12

(ii)

(ii)

10 — 3(3z — 2)

25y + 5

[2]

[4]

[4]

[3]



9. Inthe diagram, AB is a straight line and the angles are marked in degrees.

Work out the size of angle W

not to scale

2w — 15 w

[3]



10. For this question, give answers correct to the nearest whole number.
Calculate

(i) the circumference of this circle. (i) the area of this quadrant.

not to size not to size

14m

[6]



11. Here are Ted’s scores in 12 mental tests.

(i)  What was his modal score?

(i)  Work out his mean score.

(iii) Work out his median score.

ANSWEL e

(iv) Circle the type of average you think, in this case, is least appropriate?

mode mean median

Explain: ...

[1]

[3]

[3]

[2]



12.

(@)

(b)

Here is a regular pentagon with centre O.

Calculate the size of angle X

Here is another pentagon.

Calculate the size of angle y

ST

70°

not to scale

not to scale

[5]

[3]



13. Shape A is drawn on the centimetre grid below.

(a) Enlarge shape A scale factor 3 from the centre P.

Label the new shape B.

[3]

(b) Shape A has an area of 3.5cm? and a perimeter of 7.89cm.

(i) Calculate the area of shape B. (i) Calculate the perimeter of shape B.

[4]

10



14. (a) Paula cycles 455 kilometres in 14 hours.

Calculate her average speed.

[3]

(b) Jess drives for 1 hour and 45 minutes at a speed of 28 kilometres per hour.

Calculate the distance she drives.

[3]

11



15. This graph shows how much a rubber band stretches (extension) when a force is applied.

extension,
in cm /

(a)

(b)

50

40 K =

30

20

10

N

0 100 200 300 400 500
force, in newtons

What is the maximum extension of the rubber band shown on the graph?

ANSWEN: ..o [1]
Showing clearly where you take your readings,

(i) find the force needed to stretch the rubber band by 21cm

ANSWET: ... [2]

(i)  find how far the band stretched when a force of 200 newtons was applied.

ANSWET: ... [2]
12



16. Here is a rectangle divided up into squares.

How many squares are here altogether?

[4]

13



17. Emily has twice as many marbles as James.
Edward has 3 more marbles than James.

The three children have 23 marbles altogether.

How many marbles does James have?

[3]

\ \\\
18. Here is a tetrahedron. | N
It is a pyramid with equilateral triangular faces. L 5‘\L /
Draw as many different nets of a tetrahedron as you can. h \ L“-._ y

[4]

14


https://radiganengineering.com/2016/04/platonic-solids-in-solidworks/

19. A 10p coin has a diameter of 24.5mm.

One mile is equal to 1.6093 km.

For charity, a straight line of 10 p coins, one touching the next, one mile long, is laid
down.

What is the total value of all the coins in the line?

[4]

(Total marks: 100)

15





